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I. forduló
Ipolynyék 6 :4 Kelenye Ipolfdödémes �A� 9 :1 Ipolfdödémes �B�
Szabó László 2 : 0 Bodzsár István Bakó István 2 : 0 Antalicz Gyula
Siket József 0 : 2 Klacsa Róbert Koncz János 2 : 0 id. Bodzsár László
Gergely Sándor 2 : 0 Csáky Károly Gergely Zsolt 2 : 0 Nagy Árpád
Tóth Gabriel 2 : 0 Forgács János Kovács Tibor 2 : 0 Csáky István
Petrezsély László 0 : 2 Takács Károly Bodzsár József 1 : 1 ifj. Bodzsár László

II. forduló
Ipolfdödémes �B� 2 :8 Ipolynyék Kelenye 4 1/2 :5 1/2 Ipolfdödémes �A�
Antalicz Gyula 0 : 2 Szabó László Bodzsár István 0 : 2 Bakó István
id. Bodzsár László 0 : 2 Siket József Klacso Róbert 2 : 0 Koncz János
Nagy Árpád 0 : 2 Gergely Sándor Csáky Károly 1/2 : 1 1/2 Gergely Zsolt
Csáky István 2 : 0 Tóth Gabriel Forgács János 1/2 : 1 1/2 Kovács Tibor
ifj. Bodzsár László 0 : 2 Petrezsély László Takács Károly 1 1/2 : 1/2 Bodzsár József

III. forduló
Ipolyfödémes �A� 5 :5 Ipolynyék Ipolyfödémes �B� 3 1/2 :7 1/2 Kelenye
Bakó István 1 : 1 Szabó László Antalicz Gyula 0 : 2 Bodzsár István
Koncz János 1 : 1 Siket József id. Bodzsár László 0 : 2 Klacso Róbert
Gergely Zsolt 1 : 1 Gergely Sándor Nagy Árpád 0 : 2 Csáky Károly
Kovács Tibor 1 : 1 Tóth Gabriel Csáky István 1 1/2 : 1/2 Forgács János
Bodzsár József 1 : 1 Petrezsély László ifj. Bodzsár László 1 : 1 Takács Károly

A torna végeredménye: A legeredményesebb játékosok:

1. Ipolyföfémes �A� 19 1/2 1. Klacso Róbert 6 (II. tábla)
2. Ipolynyék 19 2�4. Bakó István 5 (I. tábla)
3. Kelenye 16 Gergely Sándor 5 (III. tábla)
4. Ipolyföfémes �B� 5 1/2 Szabó László 5 (I. tábla)

5�7. Gergely Zsolt 4 1/2 (III. tábla)
Kovács Tibor 4 1/2 (IV. tábla)
Takács Károly 4 1/2 (V. tábla)

8. Csáky István 3 1/2 (IV. tábla)


